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PRACTICE QUESTIONS OF MCQ _,

S

Q.1: Pointing to a lady in the photograph, Monika said, “Her son’s father is
the son-in-law/ of my mother™ How is Monika related to the lady?

(g) Aunt ’ (b) Sister
(c) Mother (d) Cousin
Ansvier:

Lady’s son’s father is lady’s husband. Thus Monika is a lady’s sister.
(b) Sister

Q.2: Amit introduced Akash of the- son of the only brother of his father's wife.
Howr is Akash related to Amit ?

(a) Cousin (b) Son

(c) Uncle (d) Son-in-law
Answer: _ .
(a) Cousin

Q.3: Pointing to a man in a photograph, Sania said, “His mother's only
daughter is my mother”, How is Sania related to that man ?

() Nephew (b) Sister
(c) Wife : (d) Niece
Answer: ‘

Sania mother's mother is man’s mother i.e. Sania mother is man’s sister or
Sania is man’s niece.
(d) Niece:

Q.4: Pointing to a woman, Rajesh said, “She is the daughter of the only child
of my grandmother”. How is the woman related to Rajesh ?

(a) Sister . (b) Niece
(c) Cousin : (d) Brother
Answer:

Only child of Rajesh’s grandmother is Rajesh’s mother/father. Daughter of
Rajesh’s father/mother - Rajesh’s sister. |
(a) Sister '

e
&S



[Chapter = 12] Blood Relations |H 3.635

Q.5: K and L are brothers. M and N are snsters K's son is N’s brother. How
is L relatedto M ?

(a) Father e (b) Brother

(c) Grandfather (d) Uncle
Answer: v
(d) Uncle

Q.6: Pointing to a photograph of a boy Suresh said, “He is the son of the
only son of my mother”. How is Suresh related to that boy ?

(a) Brother (b) Uncle
(c) Cousin _ (d) Father
Answer: ‘

The boy in the photograph is the only son of the son of Suresh’s mother, the
son of Suresh. Hence Suresh is the father of boy
(d) Father

Q.7: If Ais the brother of B, B is the sister of C,and C is the father of D, how
Disrelatedto A 7

(@) Brother - (b) Sister

(c) Nephew (d) Can’tsay
Answer: -

(c) Nephew

Q.8: If A =B means A is the brother of B, A - B means A is the sister of B,

and A x B rmeans A is the father of B. Which.of the following means that C
isthe scnof M ?

(@) M-NxC+F | (b) F-C+NxM
() N+M-FxC | (d MXN-C+F
Answer:

MxN =— M is the father of N
-C - N is the sisterof C
C+F —  Cisthe brotherof F

- So Mis the father of C or C is the son of M.
(d MxN-C+F
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Q.9: Introducing a boy, a girl said, “He is the son of the daughter of the father
of my uncle.” How is the boy related to the girl ? e

(a) Brother (b) Nephew
(c) Uncle (d) Son-in-law
Answer:

The father of the boy’s-un'cle — the grandfather of the boy and daughter of-, '

the grandfather — sister of father.
(a) Brother

Q.10: Pointing to a photograph Lata says, “He is the son of the only son of'
my grandfather”. How is the man in the photograph related to Lata ?

(a) Brother ‘ (b) Uncle
(c) Cousin . (d) Data is inadequate
" Answer: - '

The man in the photograph is the son of the only son of Lata’s grandfather 4
L.e., the man is the son of Lata’s father. Hence, the man is the brother of
Lata. ' . o
(a) Brother

Q.11: If A + B means A is the brother of B. A x B means A is the son of B
and A % B means B is the daughter of A then which of the following means o
M is the maternal uncle of N ? ' L

(@) M+OxN ' (b) M%OXN+P
(c) M+ 0O %N (d) None of these
Answer: :

. Because the sex of O is not known.
(d) None of these

Q.12: If D is the brother of B how B is related to C. To answer this questio‘h"
which of the statements is/are necessary ? '»
1. The son of D is the grandson of C.

2. B s the sister of D. |

(a) Only1 : (b) Only 2 |

() Eithertor2 - (d) 1and2 both are required
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4 Gi\leﬂ D

is the brother of B.
t 1, we can detect that D is son of C (son of D is the grandson

- ol C) )
From statement 2. we can detect that B is 'Female’ (sister of D). Therefore,

f g g daughier of C.

i 1 2nd 2 both are required
| g13: 1A+ B means A is the father of B. A - B means A is the brother B. A
5, Bmeans A is the wife of B and A x B means A is the mother of B, which
ol the following shows that M is the maternal grandmother of T 7
?(a)MxN%S+T b) MxN-S%T

g MxS-N%T (d) MxNxS%T

- Answer:

MxN — M is the mother of N.

N%S = Nisthe wife of S and

§.T = Sisthefatherof T.

Hence NV is the maternal grandmother of T.

@ WMxN%S+T

Q.1¢: Pointing to & photograph. Bajpai said, “He is the son of the only
daughter of the father of my hrother” How Bajpai is related to the man in the
phatograph 7

{a) Nephew | (b) Brother
[cj Father (d) Maternal uncle

knswer:

The man in the photo is the son of the sister of Bajpai. Hence, Bajpaiis the
matemal uncle of the man in the photograph.

[d) Maternal uncle

Q.15: Deepak said to Nitin, “That boy playing with the football is the younger
of the two brothers of the daughter of my fathers wife”, How is the boy

»’fﬁying {ootball related 10 Deepak ?
&) Son {b) Brother
) Cousin (d) Brother-in-law
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Answer: etars
Father's wife — mother. Hence. the daughter of the mother means siste

younger brother means brother, Therefara, the boy is the brother of Deepak.
(b) Brother

Q.16: Pointing a photograph X said to his friend ¥, “she is the only daughter
of the father of my mother”, How X is relatad to the person of photograph 7

(a) Daughter (b) Son

(c) Nephew (d) Cannot be decided
Answer;

(b) Son

Q.17: Veena who is the sister-in-law of Ashok is the daughtsr-in-law of

Kalyani. Dheeraj is the father of Sudeep who is the only brother of Ashok.
How Kalyani is related to Ashok 7

(a) Mother-in-law (b) Aunt

(c) Wite (d) Ncne of these

Answer:

Ashok is the only brother of Sudeep and Veena is the sister-in-iaw cf Ashok.

Hence Veena is wife of Sudeep, Kalyani is the mother-in-iaw cf Veena,
Kalyani is the mother of Ashok.

(d) None of these

Q.18:1f A+ Bmeans Ais the sisterof B,AxBmeans Ais thewifecolB, A%
B means A is the father of B and A - B means A is the brother of B Which
of the following means T is the daughter of P 2

(a) PxQ%R+S-T 0) PxQ%R-T+S
(c) PxQ%R+T-S (d) PxQ%R+S+T
Answer:

PxQ = P is the wife of Q

Q%R — Q is the father of R.

R-T = R is the brother of T.

T+S = “is the sister of S.

Therefore, T is the daughter of P.
(b)) PxQ%R-T+S
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Q.19: Pointing to a woman, Abhijit said, “Her grand daughter is the only
daughter of my brother”, How is the woman related to Abhijit ?

(a) Sister (b) Grandmother
(c) Mother-in-law (d) Mother
Answer:

Daughter of. Abhijit's brother — niece of Abhijit. Thus the grand daughter of
the woman is Abhijit's niece. Hence the woman is the mother of Abhijit.
(d) Mother . |

Q.20: Amit said “This girl is the wife of the grandson of my mother”, How is
Amit related to the girl ?

(a) Brother (b) Grandfather
(c) Husband (d) Father-in-law
Answer:

The girl is wife of grandson of Amit’s mother i.e. the girl is the wife of son of
Amit. Hence, Amit is the father-in-law of the girl.
(d) Father-in-law ;

Q.21: Pointing toward a man, a woman said “His mother is the only daughter
of my mother”. How is the woman related to the man ?

(a) Mother (b) Grandmother
(c) Sister (d) Daughter
Answer:

Only daughter of my mother — myself. Hence, the woman is the mother of the
man. /
(a) Mother

Q.22: If P $ Q means P is the brother of Q. P # Q means P is the mother of
Q, P * Q means P is the daughter of Qin A # B $ C * D, who is the father ?

(a) D. (b) C
(c) B (d) Data is inadequate
Answer: '

A is the mother of B, B is the brother of C and C is the daughter of D. Hence,
D is the father.

(a) D
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- Q.23: Introducing Sonia, Aamir says, “She is the wife of only nephew of only
brother of my mother”. How Sonia is related to Aamir 7

(a) Wife ‘ (b) Slste{ '
(c) Sister-in-law (d) Data is inadequate
Answer:

'Brother of mother means maternal uncle. Hence orBIy'nephevs./ of Aamirs
maternal uncle means Aamir himself. Therefore Sonia is the wife of Aamir,
(a) Wife

Q.24: If A + B means A is the brother of B. A % B means A is the father of
B and A x B means A is the sister of B. Which of the following means M is
the uncle of P ?

(@ M%NxP - (b) NxP%M
c) M+S%R%P (d) M+K%TxP
Answer:

M+ K - M is the brother of K. .

K% T — Kis the father of T.

TxP — T is the sister of P.

: Therefore, K is the father of P and M is the uncle of P.
()M+K%TxP

Q.25: Pointing of Vaman, Madhav said, “| am the only son of one of the sons ; '
of his father”, How is Vaman related to Madhav ? -

(@) Nephew (b) Uncle
(c) Father or uncle (d) Father
- Answer: ’

Madhav is only son of one of sons of Vaman’s father — Either Vaman is the
father or uncle of Madhav.

(c) Father or uncle

(.26: Introducmg a woman. Shashank said “she is the mother of the only f
daughter of my son”, How that woman is related to Shashank ? |
(a) Daughter _ (b) Sister-in-law

(c) Wife (d) Daughter-in-Law



; [Chapter = 12] Blood Relations |m [ 3.641

Answer: o P
sewoman is the mother of Shashank’s grand daughter. Hence the woman
isthe daughter-in-law of Shashank. ' o

(d) Daughter-in-Law

027 ifA+B megns B is the brother of A, AxB means B is the husband of
) A-B means Ais the mother of B and A % B means A is the father of B.
hich of the following shows that Q is the grand mother of T? '

(a)Q-P+-Fi%T (b) PxQ%R-T
(c)PxQ%FHT | d P+Q%R-T
Answer: | -

Q-P = Q is the mother of P.

P+R — R is the brother of R .
~ Hence — Q is the mother of R.

R%T = R is the father of T.

Hence, Q is the grand mother of T. -
©Q-P+R%T T

0.28: Pointing to a photograph. Anijali said, “He is the son of the only son of
my grand father”, How is the man in photograph related to Anjali ?

(a) Brother ~ (b). Uncle :
) Son | (d) Data is inadequate
Answer: ~ , ‘

The man in the photograph is son of Anjali’s grandfather’s son i.e. the son
of Anjali’s father. Hence, the boy is the brother of Ajanli.
(@) Brother. '

0.28; Pointing to a person, Deepak said, “His only'brother is the father of my
daughter’s father”, How is the person related to Deepak ? -

(&) Father _ (b) Grandfather
(©) Uncie {1 (d) Brother-in-law
Answer; '

Father of Deepak’s daughter’s Father — Deepak’s father. Hence thg person

nthe brother of Deepak’s father.

Therefore, the person is the uncle of Déepak. '
© Uncle -~ £
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Q.30: P is the mother of K. K is the sister of D. D is the father of J. HOV\-I isP
related to J ? ' ‘ : :
(a) Mother " (b) Grandmother

(c) Aunt (d) Data is inadequate
Answer: o .

P is the mother of K.
K is the sister of D.
D is the father of J.

Therefore, J is the nephew or niece of K and P is the grandmother of J.
(b) Grandmother

- Q.31: If P $ Q means P is the father of Q. P # Q means P is the mother of Q

and P * Q means of P is the sister of Q then N # L $ P * Q shows which of -
the relation of Qto N ?. ' ' . :

(@) Grandson " (b) Nephew

(c) Grand daughter (d) Data is inadequate
Answer:

(d) Data is inadequate

Q.32: If A $ B means A is the brother of B. A @ B means A is the wife of B,
A # B means A is the daughter of B and A * B means A is the father of B. -
Which of the following indicates that U is the father-in-law of P 2

@ P@QS$T#U*W . (b) P@ewsQ*T#U .
c) P@Q$SW*T#U - .. (d P@RQSTEW*U
Answer: : " - :

(@ P@QSTHU*W. °

Q.33: Introducing a man, awoman said “He is the on
my mother”. How is the woman related to the man ?
(a) Mother - ~ .(b) Sister

(c) Niece . (d) Maternal aunt
Answer:

(c) Niece

ly son of the mcher of .
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Q.34: Pointing to Gopi, Naini says “l am the daughter of the only sbn of his
grandfather”..How Naini is related to Gopi ?

(a) Niece (b) Daughter

(c) Sister (d) Cannot be determined
Answer:

(c) Sister

Q.35: A’ssonBis married with C whose sister D is marned to E the brother
of B. How D is related to A ?

(a) Sister * (b) Daughter-m-law
(c) Sister-in-law ' - (d) Cousin '
Answer: '

(b) Daughter-in-law

Q.36: Pointing to a lady a person said. “The son of her only brother is the
brother of my wife”. How is the lady related to the person ?

-

(a) Maternal aunt ’ (b) Grand mother
‘(c) Sister of Father-in-law (d) None of these
Answer: LT

(c) Sister of Father-in-law

Q.37: 1. B 5D means B is the father of D.
2. B 9D means B is the sister of D.
3. B 4 D means B is the brother of D.
4. B 3 D means B is the wife of D.
Which of the following means F is the mother of K ?

(a) FAM5K : (b) FSM3K

(c) FOIM4N3K ' . (d) F3AM5N3K-
Answer: ’
(a)FSMSK

Q.38: A $ B means A is the father of B.A# B means A SIS the sister of B, A
* B means A is the daughter of Band A @ B means A is the brother of B.
Which of the following indicates that M is the wife of Q ?
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(@ Q$R#T@M () QSR @ T#M |
() Q$R*T#M (d Q$R@T*M
Answer: . :

(d QSR@T*M

Q.39: If A$ B means A is the brother of B, B * C means B is the son of C.C .
@ D means C is the wife of Dand A # D means A is the son of D, How C s :

related to A ? -

(a) Maternal. grandmother - (b) Aunt

(c) Maternal aunt (d) Mother -
Answer: ' ' -

(d) Mother-

Q.40: Pointing to a girl Sandeep said, “she is the daughter of the only sister
of my father.” How is Sandeep related to the girl ?

(a) Uncle (b) Cousin

(c) Father - (d) Grand father -

Answer: i ‘ ' ¢
(b) Cousin

Q.41: Pointing to-a boy in the photograph Reena sald “He is the only son of
the only child of my grandfather” How Reena related to that boy ?

(a) Mother £ gy (b) Sister |
(c) Aunt : (d) - Cannot be determined
Answer: s | H ;
(b) Sister

. A * B means A is the sister of B.

Q.42: 1

, 2. ‘A $ B means B is the mother of A.

3. A+ B means A is the brother of B

4. A =B means B is the father of A

Which of the following means M is the maternal uncle of N ?
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3(a)M=P+o*N ' (b) N+P=Q*M
;[c) NPSQ * M (d) None of these

431t Mx N means Mis the daughter of N, M + N means M'is the father
SN M % N means M is thelmother of N and M - N means M is the brother
AN then P % Q + R - T x K'indicates which relation of P to K ?

if;(a) Daughter-in-law’ - (b) Sister-in-law

(c) Aunt .

(d) None of these

‘Answer:

;i(a) Daughter-in-law

\044: If P+ Q means P is the brother of Q, P x Q' means P is'the father of
and P - Q means P is the sister of Q, which of the following relations

sowsthat 1 is the niece of K2 |

@ K+Y+Z-] | (b) K+YxI-Z
o Z-1xY¥Y+K (d) KxY+1-Z
Answer: or ‘
b K+Yx1-Z

:0.45: Painting towards a girl, Abhisek says

“This girl is the daughter of only

achild of my father”. What is the relation of Abhisek’s wife to that girl ?

(a) Daughter _ . (b) Mother
(6} Ant (d) Sister-in-law
Answer;

o) Sister-in-law

046: P & Q are brothers, R and S are sister. P’'s son is S's brother. How is -
Orelated to R ? : '

&) Uncle (b) Brother
(t) Father | (d) Grand father
Answer: | R

&) Uncle
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Q.47: Ais B's brother. C is A’
B related to F's child ?

(a) Aunt

(c) Nephew

Answer:

(d) Grand father

8 mother. D is C’s father. F is A’s son How is

(b) Cousin
(d) Grand father

Q.48: A-and B are brothers.

) E is the daughter of F. F is the wife of B. What
Is the relation of E to A ?

(a) Sister (b) Daughter

(%) Niece (d) Daughter in law
Answer: ,

() Niece )

Q.49: A is B’s wife’s husban
related to C ? |

(@) Brother (b). Sister-in-law.
- (c) Wife ,

(d) Sister

d’s brother, C and D are sisters of B.How Ais

. Answer:‘
(a) Brother

Q.50: Vinod introduces Vishal as the’

son of the only brother of his father's j
wife. How is Vinod related to Vishal ? o5 \

(a) Cousin (b) ~Brother’.
(c) Son (d) Uncle
Answer: ;
- (@) Cousin

Q.51: Pointing out a man receiving the prize, menu said,

“He is the brother : '-
of my uncle’s daughter”: Who'is the marn to menu ? TS il

(a) Son _ ; (b)'Broth_er-in-law ey o
(c) .Nephew : . .- (d) Cousin & X he i
Answer: - ' '

(d) Cousin
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Q.52: Pointing to a picture, Sumit said, she is the mother of my son's wife's
daughter. How is lady related to the Sumit ?

(a) Uncle ' (b) Cousin
(c) Daughter-in-law | (d) None of these
Answer:

(c) Daughter-in-law

Q.53: Introducing a boy, a girl said, “He is the only son of my mother’s
mother”. How is the girl related to that boy ?

(a) Aunt (b) Niece
(c) Sister (d) Mother
Answer:
(b) Niece

Q.54: There are two couples in a family. K has two chlldren M is wife of o)
who is brother of B. F is daughter of K. U is sister of S, who is son of O. Tis
son of B, who is a male. How M is related to K ?

(a) Sister (b) Sister-indaw
(c) Brother (d) None of these
Answer: .

(b) Sister-in-law

Q.55: There are two couple in a family. K has two children. M is wife of O,
who is brother of B. F is daughter of K. U is sister of S, whois son of O. T is
son of B, who is a male. How is U related to T ?

(a) Mother (b) Brother

(c) Sister (d) Cousin

Answer: 1 o
(d) Cousin

Q.56-58: Directions: R is the father of P; who ig a son-in- law of MandSis
the. mother of G. S is a sister of K, who is a brother-in-law of P and H is the
daughter of T, who is a grand mother of G 7
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Q.56: How is G relatedto P 7

(a) Son (b) Daughter

~ (¢) Grandson (d) Grand daughter
(e) Cannot be determined -
Answer:

(e) Cannot be determined
Q.57: If M is a female, then how is H related o S 7

(a) Sister (b) Sister-in-law

~(c) Niece (d) Cannot be determined
(e) None of these

Answer:

(b) Sister-in-law
Q.58: If K married to N, then how is N related to M 7

(a) Son-in-law : (b) Daughter-in-taw
(c) Mother-in-law L - (d) Father-in-law
(e) Noneof these '

Answer:

(b) Daughter-in-law -

Q.59: Pointing a photograph, Sheela said, he is the only son of r’?]""’
grandfather’s only son. How is the boy in the photograph related to She»e%a’

(@) Brother (b) Cousin

(c) Son ~ (d) Cannot be determined
(e) None of these .

Answer:

(a) Brother

Q.60: Pointing a girl, Prasan said, she is the only granddaughterof my wﬁe’s
grandfather’s only child. How is the girl relate to Prasan ?

(a) Sister (b) Niece

(c) Daughter (d) Cannot be determined
(e) None of these '

Answer:

(c) Daughter
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a.61: P is the sist'er of Q. R is the father of S, who is the brother of Q. R
dto T. Howis Qrelated to T ? -

marr_ie : '

@ Son - (b) Daughter .

() Either son or daughter ~ (d) Datainadequate
() None of these ‘

Answer:

(c) Either son OF daughter

a.62: G is the father of K, who is the brother-of B. K married to U. B is the
dgaughter of C. D is the father of U and M is the only son of D. How is U
related to G 7 ‘ ‘

(a) Daughter (b) Daughtér-in-law
(c) Grand daughter (d) Son-in-law

(e) None of these

Answer:

(b) Daughter-in-law

 Q.63: Kmarried to S. P is a brother of B. S is a mother of N, who is a brother
of B. How is B related to K ? , : -

(a) Son ~ (b) Daughter

(c) Either son or daughter "(d) ‘None of these
(e) Data inadequate ' Vi aiE 2
Answer:

(c) Either son or daughter

" Q.64: Pointing to a girl, Mala said, ‘she is the grand daughter of my grand
father's only son’. How is the girl related to Mala ? :

(a) Niece (b) Sister

(¢) Daughter ' (d) Cannot be determined
(e) None of these ' : :

Answer:

(¢) Daughter
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Q.65: Pointing a boy, Ram said, ‘He is the only son of my grand father S son
How is the boy related to Ram ?

(@) Brother =~ . (b) Son

(c) Cousin (d) Data inadequate
(e) None ofthese ‘
Answer:

(a) Brother

Q.66-67: Directions: There are seven members A C,D, E F, G and H.in
a family. There are two fathers, one mother two sisters and four brothers. E
is the sister-in-law of D. G is a daughter of C. F is the brother of E. Ais a
grandfather of G. E is a mother of H ?

Q.66: HowisHrelatedto A? . -

(a) Grandson (b) Grand daughter

(c) Son . £ (d)- Cannot be determmed
(e) None of these L -
Answer:

(a) Grandson | ‘
Q.67: How many male members in the family ?

(@) 4 - (b) 5
(c) 3 (d) Data madequate
(e) None of these | _ :
Answer:
~.(b) 5

Q.68-70: Directions: M is the grandson of G. D is the husband of G. K. is
married to the son of S. T have two children of different gender. E is the
daughter of K’s brother N is brother-in-law of the son of S. G has one only
one child. D is the father of N.
Q.68: How N is related to G ?

(a) Son SRt Sondindaw

(c) Grandson .. _(d) Brother
(e) Father ' S
Answer:

(a) Son
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Q.69: If Q is married to N, then how is Q related to M ?

(a) Father (b) Mother

(c) Sister (d) Grand mother
(e) Cannot be determined

Answer:

(b) Mother
Q.70: 1f U is the son of T, then how is U related to N ?

(a) Brother _ (b) Uncle

(c) Cousin (d) Brother-in-law
() Data inadeguate

Answer:

(d) “Brother-in-law

Q.71-73: Directions: A family consists of six members P, Q, R, X, Y and Z.
Q is the son of R but R is not the mother of Q. P and R are married couple.
Y is the brother of R. X is the daughter of P and Z is the brother of P.
Q.71: Who is the brother-in-law of R ?

(a) P (b) Z

(I 4 (d) X

(e) Q

Answer:

(b) Z

Q.72: How many female members are there in the family ?
(a) One (b) Two

(c) Three (d) Four

(e) Five

Answer:

(b) Two

Q.73: Which of these is a pair of brothers ?

(a) Pand X (b) Paend Z
(c) Qand X (d) Rand Y
(e) None of these

Answer:

(d) Rand Y
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Q.74-75: Directions: There are six children taking part in an assay
competition, namely A, B, C, D, E, and F. A and E are brothers. F and Dare

the sister of E. C is the only son of A’s uncle. B and D are the brother of C's
father. | ' !

Q.74: How is D related to A ?

(a) Uncle (b) Sister
(c) Niece (d) Cousin
(e) None of these

Answer:

(b) Sister

Q.75: How many male competitors are there ?

(@) 6 ‘ (b) 5

(c) 4 (d) 3

(e) 2 .

Answer:

(d) 3

Q.76-78: Directions: PXQ means P is brother of Q.
P + Q means Q is mother of P.
P - Q means P is father of Q.
P+ Qmeans Q s sister of P,

Q.76: Which of the following means M is the daughter of T 2

@ M+N=+J-T (b) T-UJxR+M
() M-JxT=+K , (d M+WxR=T
(e) None of these -

Answer:

(b) T-JxR+M

Q.77: How is K related to R in the expressionR+ T+ K2 -
(a) Daughter (b) Sister

(c) Niece (d) Cannot be determined
Answer; '

(d) Cannot be defermined
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q.78: Which of the following means D us grandfather of W 2

(a)g Ex;r_ VVVV | | Eb; D+KxT+W
c) X d D=KxT-W
E ) None of these ' ‘

Answer:

“(a) D- KxT-W

0.79-80: Dlrectuons A is the mother of B. B is sister of C. Dis son of C. E

is brother of D. F is mother of E. G is grand daughter of A. H has only two
chuldren B and C.

Q.79: How is F related to H'?

(a)ﬁSon-in-l‘aw - (b) Daughter-in-law
(c) ‘Father-in-law (d) Grand daughter
(e) Niece ' v

Answer:

(b) Daughter-in-law
| 0.80: How is C related to E ?

(@) Father (b) Son
(¢) Mother- (d) Cousin
(e) Grand father :
Answer:

() Father

T ——
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[] Vinod introduce Vishal as the son of the only brother of his father's wife.
How is Vinod related to Vishal? : '
(@) Cousin , (b) Brother, .
" (c) Son (d) Uncle | (1 mark)




[2]

3]

[4]
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Answer: '

(a) Vinod Introduces Vishal as the Son of the only brother of hlS father’'s
wife then Vinod is cousin of Vishal.

Suresh introduces a man as “he is the son of the woman who is the

mother of the husband of my mother” . How is Suresh is related to the

man? TN

(a) Brother-in-law ‘ - (b) Son
(c) Brother (d) Nephew : : (1 mark)
Answer: -

(b) -Suresh introduces a man as “he is the son of the woman who is the
~mother of the husband of my mother”. Then Suresh is the ‘Son’ of
" the man.

A reads a book and frnd the name of the author familiar. The author ‘B’

is the paternal uncle of C. C is the daughter of A. How is B related to A?

(a) Brother (b) Sister - o
(c) Father (d) Uncle =~ . (1 mark)
Answer: NI i o
(Fathep ___y, B (Patemal Undle)
(a)
) G (Daghteq

‘Bis the Brother of ‘A’." - : r
P and Q are brothers R and Sare srsters P’s son is R’s brother Howis -

Q related to R?

~(a) Uncle - - ; (b) Brother Ty 1 R L
(c) Father ' - (d) Grandfather - .+ (1 mark)
Answer: EYER S PRV U T
: +  goher H g Wi 3 LR B S Y S Lo

P— -3 0Q 3

Q' is the uncle of R’
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[5] A prisoner introduced a boy who came to visit him to the jailor as
“Brothers and sisters | have none, he is my father's son's son". Who is”
the boy?

(2) Nephew (b) Son

(c) Cousin (d) Uncle (1 mark)
Answer:

(b) ‘Son’

2018 - Novemser |

[6] Pointing to a man in a photograph, a woman said, “the father of his
brother is the only son of my grandfather”, how is the woman related to
the man in the photograph?

(a) Mother (b) Aunty )
(c) Daughter (d) Sister (1 mark)
Answer:

(d) The father of his brother is the only son of my grand father. So the
women is mans sister. -
Explanation: Only son of women's grandfather = woman's father
Man's brother's father- man’s father so. The women is man’s sister.

[7] Six persons are seen together in a group. They are A, B, C, D, Eand F,

B is the brother of D, but D is not brother of B. F is the brother of B, C
and A are married together . F is son of C, but C is not the mother of F.
E is the brother of A. The number of female members in the group is:

(@) 1 (b) 2
(c) 3 (d) 4 (1 mark)
Answer:

(b) B is the brother of D, but D is not the brother of B. This means that
D is the sister of B, and hence D is female. F is brother of B, and
hence F is male. F is the son of C, but C is not the mother of F,
implying that C is the father of F, and hence C is male. Since Cand
A are married together and C is a male, therefore,. A is female. E is

the brother of A, therefore, E is male. Therefore, we have 2 female
members - D and A.
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[8) Ram and Mohan are brothers, Shankar is Mohan’s father. Chhaya js
Shankar's sister. Priya is Shankar's niece. Shubhra is Chhaya's grand
daughter. How is Ram related to Shubhra?

(a) Brother (b) Uncle
(c) Cousine (d) Nephew (1 mark)
Answer:

(b) Let me be Ram. Mohan is my brother. Shankar is Mohan's father,
i.e., my brother’s father, and hence, my father, Chhaya is my father's
sister, hence, my aunt. Priya is Shankar’s niece, i.e., my fathers
niece, and hence, my cousin. Shubhra is Chhaya’s grand-daughter,
i.e., my aunt's grand-daughter, and hence, my niece. Thersfora, I'm
Shubhra’s uncle.

[9] If P+ Q means P is the mother of Q; P + Q means P is the father of Q;

P-Q means P is the sister of Q; then which of the following relationship
shows that M is the daughter of R?

(@) R+M+N . (b) R+N+M _
) R-M+N (d) None of the above (1 mark)
Answer:

(a) Mis the daughter of R implies that R is the mother/father of MAs
given in the question, we can see that P+Q means that P is the
father of Q. Also, when we look at option (@), it says R+M. This
means that R is the father of M, and hence M is the daughter of R.

" 2019 - JuNE " -

(10] Pointing to a woman in a picture, Sumit said, she is the mother of my
son’s wite's daughter. How is lady related to the Sumit? o
(a) Uncle -
(b) Cousin
(c) Daughter
(d) None
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1]

- (d) Brother

[12]

daughter, and hence my.grand daughter. The mother of my grand
daughter {from-my.son).would be my daughter in law, Thgrgfore
option (d) is the answer '
Pointing to a man in a photograph, a man saiq “His mother’s husband'’s
sister is my aunt”. Then what is relation between that man and him?
(a) Son
(b) Uncle
(c) Nephew

Answer: elimaTK)

(d) Letme be the man who points to the photograph. Now, there’s a man
in the photo, who’s mother's husband’s sister is my aunt. Therefore,
that “aunt” is my bua, as she is somebody’s husband's sister. (If she
would have been somebody’s sister's sister, she would have been my
mausi). Now, clearly, the husband would be my father, and hence the
mother would be my mother. Therefore, that man in the photograph
is my mother’s son, and hence, my brother.

Pointing the old man Kailash said “his son is my son’s uncle”. How is-

Kailash is related to old man.

(@) Brother

(b) Either son or son in law

(c) Son -

(d) Grand Father - (1 mark)

Answer: (c)

3 o

Kailash

, >
Brother “Sons

b
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[13] Pointing ina photograph, Sonia said, “His mother’s only daughter is my

mother ”. How is Sonia relates to that man?

(a) Nephew
(b) Sister
(c) Wife
(d) Niece
Answer:

(d) Let me be Sonia. Now, there’s some man, who’s mother’s only- |

(1 mark)

daughter is my mother. My mother's mother would be my
grandmother, and her son, i.e., my mother’s brother, would be my

_uncle. Therefore, I'm that man’s niece.

2019 - Novemser —“

[For questions 14-16]

A,B,C,D,EandF are mémb
the mother of B, A and C are
sister of B, E is the son of C.

How many male members are there in the family.
()1 e L

[14]

(b) 2

" (c) 3

[15]

[16]

(d) 4 ,
How is F related to B? -
(a) Uncle

(b) Daughter

(c) Son

(d) Niece

How many children does A have?
(@) 3

(b) 2

(c) 4

(d) 1

ers of a family. B is the son of A but A is not
married couple. F is the brother of A. D is the

(1.mark)

» - (tmark)

(1 mark e

s\
)

AW
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Answer:
For question [16-18]
(+) = male
(-) = female
i o Bro
(Nb?ﬁeﬂ C . A (Father) ]__> F+
Scn¢ ,l, Son ,l, Daught
Sister ol
e B+ TR D-
[17] (d) B is the son of A implies that B is male. A is not the mother of B

implies that A is the father of B, and hence A is also male. A and
C are married couple. We know that A is male, therefore, C is
female. F is the brother of A, and hence, F is also male. E is the
son of C, therefore, E is also male. Therefore, there are 4 male
members —B, A, F, and E.

(18] (a) Letme be F. Fis the brother of A, implies that A is my brother (we
already know that A is male from the above question). B is the son
of A, i.e., B is the son of my brother, therefore, B is my nephew,
and hence, I'm B’s uncle.

[18] (a) B is the son of A.

D is the sister of B, implies that B is also a child of A.
E is the son of C, and C is the wife of A, therefore, E is the son of
A.
Therefore, A has 3 children.
(faazo - NOVEMBER |
— _—__l

[20] Point out a Lady Sohil said she is the daughter of woman. Who is the
mother of the husband of my mother. Who is the lady to Sohil?
(a) Sister
(b) Aunt
(c) Daughter
(d) Sister-in-Law (1 mark)
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Answer:
. (b) * G-
. b
E- Ct
1 cad
K A

+ E is the mother of A. _ _

[21] Pointing towards a person, A man said to woman, “His mother is the
only daughter of your father”. How is the woman related to that
person? |

- (a) Mother
(b) Daughter
(c) Sister : -
(d) Wife (1 mark)
Answer: e
(a) Daughter of your father - your sister. So person’s mother is -
women'’s sister or the women is person’s aunt.
So women is the mother of that person.

[22] Vicky introduces John as the son of the only brother of his father’s wife. -
How is Vicky related to John’?

(@) Son
(b) Cousin
(¢) Uncle
(d) Brother
-Answer:

(b) Only brother of his father’s wife is your maternal uncle and the son "? !
of your maternal uncle is your cousin.
So, Vicky is cousin of John. : ol

[23] A Man said to a lady “your mother's husband's sister is my Aunt. “ch

is the man related to.the lady? ;

(a) Father

(b) Grandtather

(c) Son

(d) Brother

a mark)? -

(1 mak)
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~ Answer:

[24]

[29]

(d) Your mother’s husband ~ your father

~ - your father sister - your aunt

So, lady’s Aunt is man’s Aunt and therefore man is the brother of
the lady. , ‘ :
Pointing to a lady, A said, “that women is my nephew’s maternal
grandmother”. How is that women related to A’s sister who has no
sister? |
(a) Cousin |
(b) Son-in-law

~{c) Mother

(d) Mother-in-law (1 mark)

Answer: . T

(c) Clearly, the lady is the grandmother of man’s sister's son i.e., the
mother of the mother of man’s sister son i.e., the mother of man’s

~ sister. So, the lady is man’s mother.

Pointing out to a lady, Sahil said, “she is the daughter of the woman

who is the mother of the husband of my mother”. Who is the lady to

Sahil? ' '

(a) Aunt

(b) Sister .

(c) Daughter . _

(d) Sister-in-law | - (1 mark)

Answer: ' '

‘(@) The mother of the husband of my mother = my grandmother my

grandmother’'s daughter = my aunt so lady is Sahil's Aunt.

12021 - JanUARY " g

g

Pis the brother of Q and R, S is the mother of R. T is the father of P,
Which of the following statement cannot be definitely true?
(8) S is the mother of P

(b) Pissonof S
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27]

(c) Tis husband of S
(d) Qissonof T

Answer:

@ -
A A
| |
| |
P'«- - Q@ —»R

Here Q is the Son/Daughter of T
So (d) option is not definite.

(1 ' mark)

Pointing to a lady in a photograph, Ram said “Her son’s father is the

son in law of my mother”. How is Ram related to the lady?

(a) Aunt
(b) Cousin

‘(c) Sister
. (d) Mother

Answer:

(b)

Ram is the brother of the lady.

(1 mark)
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[28] A girl Introduced, a boy as the son of the daughter of father of her

(29]

uncle. The boy is girl's
(a) Son

(b) Brother

(c) Son-in-Law

(d) Uncle (1 mark)
Answer: »

(b)

Daughter of uncle's ——3Uncle's Sister ——3. mother
father

mother's son ———y Brother

Pointing to a lady, Sahil said, “She is the daughter of the woman who
is the mother of the husband of my mother”. Who is the lady to Sahil?
(a) Aunt

{b) Sister

(c) Daughter :

(d) Sister-in-Law (1 mark)
Answer: ;

(a)
Grand mother
Mother—tustand 2y Sigter _

purt
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[30] Shyam s mother said to Shyam “My mother has a son whose son ;s
Ram”. Shyam is related to Ram as.
(a) Uncle
(b) Cousin
(c) Nephew
(d) Grandfather | (1 markj
Answer: i
(b) Shyammother's  rmother

T .‘Lhisson
Shyam mother Shyam mother’s brother
: T 'Lhisson
Shyam X
e N

Cousin

Shyam is Ram’s Cousin

[31] Amit said “This glrl is the wife of the grandson of my mo}har“ How
related to the girl? | '
(a) Father-in law
(b) Grandson
(c) Father :
(d) Son (1 ma
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Answer:

.(a) y, G- ~ ‘Amit is the father in-law’

132] Ais the son C, C and Q are sister, Z is the mother of Q and P is the
son of Z. Which of the followmg statement is true? -
(a) A and P are cousins.
(b) C and P are sisters
(c) P is the material uncle of A -
(d) Aisthe material uncleof P - - - (1 mark)

Answer:
\ Son

(c)
l &

P is the Maternal uncle of A

Dl——> NI
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[33] Pointing towards “A” “B” said : your mother is the younger sister of my

mother”. “A” is related to “B” as. -

(@) Uncle (b) Cousin .
(c) Nephew (d) Father (1 mark)
Answer: i -
(b)  Yougstsister
o Y—— X
A
Mother - Mother
B A
- CREE 4
Cousin

A and B are cousins
- Xand are sisters

” 2021 - DECEMBER "

[34] Dis daughter of E. A is:son of D. C is a brother of A and B i is'the S|ster

381

of A. F is the brother of D. How F is related to B?

(a) Father-in-law _ ~(b) Uncle : s
(c) Brother Wl - (d) Mother-in-law (1 mark)
Answer: Tt g

(b) Let me be B. Since I m the sister of A, A is my brother Since A (my
brother) is the son of D, D is my mother. Since F is the brother of :
D (my mother), F is:-my maternal uncle. :

Introducing a boy a girl said, “He is the son of the daughter of the father ;
of my uncle”. Who is the boy to the girl?

(a) Brother i - (b) Nephew

() Uncle .~~~ (d) Sondn-law (1 mark)
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Answer: ; -

(a) Letme be the girl introducing the boy. If the uncle is paternal, then

- the father of my uncle would be my grandfather (Dadaji), and
, hence his daughter would be my aunt (Bua). Son of my Bua would
i be my cousin. However, cousin is not in the options.
, ' If the uncle is maternal, then the father of my uncle would be my
' - grandfather (Nanaji), and hence his daughter could either be my
Mother, or my Aunt (Mausi). Again, if the daughter is my Aunt, then
her son would be my cousin, and cousin is not in the options. If the
i ~daughter is my Mother, then her son would be my brother.
; Therefore, option (a) is the answer. '

[36] ltis given that“ A is the mother of B; B is the sister of C; C is the father
of D”. How is A related to D? ,

(. (a) Mother ' (b) Grandmother
i (c) Aunt ' (d) Sister (1 mark)

i Answer:
(b) Let me be D. C is my father. B, my father’s sister, is my Aunt. A,
my aunt's mother, would be my Grandmother.

[37] Rtoldto M as, “the girl, | met atthe beach, was the youngest daughter
| of the brother-in-law of my friend’s mother”. How is the girl related to

1

il R’s friend? ' -
! . (a) Cousin ) (b) Daughter

i (c) Niece (d) Aunt (1 mark)
! Answer:

(a) Let me be R’s friend. Now, my mother’s brother-in-law would be

either my paternal uncle, or my maternal aunt's husband. Either
way, the daughter would be my cousin. : ot

[38] P,Q, R, S, T, U are 6 members of a family in which there are two
| married couples. T, a teacher is married to a doctor who is mother of -
- ' R and U. Q the lawyer is married to P. P has one son and one
grandson. Of the two married ladies one is a housewife. There is also.

one student and one male engineerin the family. Which of the following
is true about the granddaughter of the family? ' -
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(@) She is a lawyer (b) - She'is an engineer -;
(c) She is a student (d) She is a doctor (1 mark) |
Answer: ]

(c) The family tree is as follows:
Q is the male lawyer married to P who is a housewife. They have |
ason, T, who is a teacher. T is married to S, who is a doctor. They. -
have two children — R and U. Out of them, one is a male engineer,
and the other is a student. Therefore, the granddaughter of the
family is a student. '

[39] X and Y are brothers. R is the father of Y. S is the brother of T and‘
maternal uncle of X. Whatis T to R?

(a) Mother (b) Wife i
(c) Sister d (d) Brother (1 mark)
Answer: ' ' ' :
(b)
Wie
3.4 ‘“+
S T R
NhtemaJT TFather
unde _ ‘
X ~Bohes > v
T is the wife of ‘R

, “ 2022 - June___l—J

[40] Ravi is son of Aman’s father’s sister. Ram is.son of Divya. Who is the
mother of Gaurav and grandmother of Aman. Ashok is father of Tanya
and grandfather of Ravi. Divya is wife of Ashok.

. How is Ravi related to Divya? ,
(@) Nephew ~ (b) - Grandson -
(c) Son : (d) - None
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[41]

Answer:

(b)

Gaurav Tanya/Aman’s
Aman's father father's sister
| - I
Aman Ravi

Ravi is the >grandson of Divya

P + Q means P-is brotherof Q, P -Q means P is the mother of Q. P x

Q means P is the sister of Q. Which of the following means M is the
maternal uncle of R? '

(a) M+K+R (b) M-R+K :
() M+K-R d M+KxR (1 mark).”
Answer:

() P+ Q means ‘P’ is the brother of ‘Q’.
P - Q means ‘P’ is the mother of ‘Q".
P x Q means ‘P’ is the sister of Q
M+K-R

Brather - . Sister
f =
M K
v Son
Vetemal R

uncle
M is the Maternal uncle of R.
A women going with 2 boy is asked by another women about the

relationship between them. The women replied, “My materna{ uncle -
and the uncle are his maternal uncle are same”’, the re_latlonship
between the lady and the boy is= :

() Maternal grandmother and grandson

(b) Mother and son g

(c) Father and son | _
(d) Paternal grandmother and grandson (1 mark)
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Answer:
(b)
Women's 1 Wormen's
Mother Metermal Uncle
I
Worer S
Nht% Uncle
|
Boy

[43]

[44]

The Relationship b/w the lady and the boy is mother and son

If Kamal says, “ Ravi's'mother is the only daughter of my mother. How
is Kamal related to Ravi?

(a) Father (b) Grandfather
(c) Son o (d) Maternal uncle (1 mark)
Answer:

(d) Only daughter of Komal’s mother - Komai’s-sister
‘S0, Ravi’s mother is komal’s sister or Komal is the brother-_of Ravi’'s
mother i.e. Komal is Ravi's Maternal Uncle

A’is B’s sister. C is'B’s mother. D is C's father. E is D’s mother. Then
how-A is related to D? -

(a) Grandfather . (b) Grandmother
(c) Daughter . (d) Grand daughter (1 mark)
Answer: ‘ g
(a) |

;

D+

/1
C
¥

A—B

.+, Dis the father of G and D is the grandfather of A.

1

A
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[45] If A $ B means A is father of B. A # B means A is daughterof B. A @
B means A is sister of B. Then how is K relatedto MH @ K$ L # M

(a) Husband (b) Uncle
(c) Father (d) Grandson (1 mark)
Answer:
(a) Means Sibling, = Pairs
_ + -
H— K = M
l
&

K is the husband of M

LZOZZ - DECEMBER ]

[46] Suresh’s sister is the wife of Ram. Ram is Rani's brother. Ram's father
is Madhur. Sheetal is Ram’s grandmother. Rema is Sheetal’s daughter
—in-law. Rohit is Rani's brother's son. Who is Rohit to Suresh?

(a) Brother-in-law (b) Son
(c) Brother (d) Nephew (1 mark)
Answer:

(d) Here - sibling, ~ - Couple

Smul—
t.
Madhwr
Sesh A ;
—> X = Ram— Rai
%, ;*
W > (Fowy

[47] There are six children playing football namely AB,C.D.EandF,A&E
are brothers. F is sister of E, C is the only son of A’s uncle. B & D are
daughters of the brother of C's father. How D is related to A?

(a) Uncie (b) Cousin
(c) Niece (d) Sister (1 mark)
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Answer:

(d)
DA AF Elogei B - 7. G

So, Dis the sister of ‘A,

[48] In a joint family, there are father, mother, 3 married sons and org

unmarried daughter. Out of the sons, two have 2 daughters sach and -
one has a son only. How many female members are thers in the

family?
(a) 3 (b) 6 -
(c) 9 (d) 5 (1 markj
Answer: _
(b) M
Father — Mother
I

M , ¥ ¥

§ S S; or

| | ¥

\ A V. s

D ——> B0y — 5 o

Total female members in the family = 6

[49] When Rani saw Vinit, she recollected that “He is the brother of my.
grandfather's son”. How is Rani related to Vinit?
(@) Aunt ;
(b) Daughter
(c) Sister
(d) Niece

(1 mak)

g
fhas
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Answer:
) G
| VLS

+

GFF/X —>» 7t (Vinit)

A
(Reri)

Roni is niece of Vinit.

50) Annanya is mother of Satya and Shyam is the son of Bhima. Shiva is
brother of Annanya. If Satya is sister of Shyam. How Bhima is related
to Shiva? : '

(@) Son ~ (b) Cousin _
(c) Brother-in-law (d) . Son-in-law (1 mark)

Answer:

(©) _
Brather in law

/—\
Brima - (Annenya) ——> (Shiva)

(Shyan) <—(Satya)

So Bhima is brother in law to Shiva.

51} Suman is daughter-in-law of Rakesh and sister-in-law of Rajesh.
" Ramesh is the son of Rakesh and only brother of Rajesh. Find the
relation of Suman with Ramesh? '
(a), Sister-in-law (b) Cousin
(¢} Aunt (d) Wife . (1 mark)
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Answer:
(d) \“\aﬂ ?kmh
(Sumar) £ X'—> (Rgjesh)’
(Ramesh)
(Husband)

So Suman is the wife of Hamesﬁ

[52] Pointing to a man in the photograph. Khushi says, “This man’s son’s
_s:ster is my mother —in-law.” How is the Khushi’s husband related to the
man in the photograph?

(a) Grandson (b) Son
(c) Sonin law (d) Cousin (1 mark)
Answer:

(a) “Khushi husband is the grand son of the man.”
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